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|| Question oot A ¢ B | eiup ia|B]c]o ]
1. Daia in the population census reports are: ::Gmup data 'Eggl::londary iPrimary data. |Amayed data I O O O 9O
- ‘Number of ‘Numberof
; . 'Rainfallon ! iNumbearof | ;
The only continucus variable in the; . 1 students o . jcustomers -
2 following is: ;g,:iext';t cnys radmitted in & :g'r?l:: !:i:;‘:;;g entering a | O O O O
; icollege : ‘store i
If the number of workers in a factory is 128:1 | ! ; i
the maximum and minimum hourly wages! :
3. are 100 and 20 respecively. For the!7 110 125 160 L) Ly 8 O
frequency distribution of hourly wagss, the! : : ! !
class interval can be: : : } | :
If the smallest cbservation in a daia is| : : iHarmonic
4, decreased, which of the following is least!Mode tMedian ‘Mean sl ttx Oy £ O
likely fo be effected? | ; : i E
- Which measuvre of dispersion can beiStandard . EQuarﬁle iCoefﬁdent of : ;
" computed in case of opened class interval? | deviation jRange ideviation tvariation ; o O O O
- The second moment about the arithmeticé .
% meanis 16, the standard deviation will be: | 10 o 52 A : c O O 0O
The general purchasing power of the! Retail price . iComposite iWhoIe sale ' -
’ currency of a country is determined by: ringex ;mee indiex rindex price index i O O O O
Indices calculated by the chain base me!hc:di Seasonal ! ' ; ‘
i are free from: iyariation ;En'crs EPercentages ERatms ' O O O O
o When the ratio of variation in the related; Linear 'Nor-linear  :Positive ‘Negative | O 0 0O O
* variables is consiant, i is called: icorrelation  comelatior  icorrelation  correlation !
The predicted rate of response of the! ! : 5 . :
10. dependent variable to changes in the!Siope ! Intercept {Ermor ERegressaon Y EXE 3 £y
: . o : ; : | aguation .
independent variables is: : : : : :
f Y=—-10X and X=-0.17, then r is P i
ik aqual to: ;U'? {0‘2 L :'D | O O O O
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12. The multiplicative mode! of the time series is: | Y=T+3+C+| {Y=TSCI Y=athx Y=atbxted 1 O O O O
13 The most commonly used mamematicalifvcéggge | Semi averageiMethcd of 21?;0“;&;223 E 5o O
method for measuring the frend is: imethod Emeﬂnd Eleast squares fcurve 2
Base year weighted index numbers are also!Laspeyre’'s  Passche’s | .. et i :
W Lo vl i (Fisher's index: Walsh index | Q O O O
A series of data with exclusive classes along: L o :Continuous  : Percentage | Cumulative |
— with the corresponding frequencies is called'iﬂe’]umcy |frequency ;frequen{:y ;fr‘equency ! Q O O O
“idistribution  idistribution  distribution - distiibution .
The lower and upper quartiles of aé . 60 —40 :
i6. symmefrical distribution are 40 and 80!40 150 180 Q ' O o O O
respectively, the value of median is: : : | i 2 '
i cox g ’ iReg{ession " - ' o
13, When regression line passes through theinterceptis ‘coefficient is ; Correlation is | Association :s5 O O O O

origin, then; izero
1

:. zZaro
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STATISTICS HSSC-

Time allowed: 2:35 Hours Total Marks Sections Band C; 68

NOTE: Answer any fourteen parts from Section 'B’ and any two questions from Section ‘C’. Write your answers
neatly and legibly. Statistical table will be provided on demand.

SECTION - B (Marks 42)
Q.2 Atitemptany FOURTEEN paris. All paris carry equal marks. (14 x 3 = 42)
(i How is the class interval determinad In the canstruction of frequency distribution?
(i) Write a short note on the cumulative frequency of polygon.

4 4 4 4 '
(i)  Given 3 x =20, Y y=-10and > xy =15 find D (x, +2)(3 -2)

] Ful du] f =

(iv) Describe the Importance and uses of averagas in practical life.

(v) What are quartiles? Write down their formulas.

(vi} The arithmetic mean and geometric mean of the two observations are 25 and 20 respectively. Find H.M. of
these two abservations.

{vil) What is CPI7 How is it calculated?

(vi)  What is meant by link relatives? Describe the cifferent types of index numkbers.

{ix} Given w=20,25,30,40 and = 100,105,116,120 . Find consumer price index number.

x) Differentiate the terms “no correlation” and “‘curvilinear correlation”. Also write down the properiies of
correlation coefficient.

{xi) Sketch the scatter diagrams for the following terms:

a) Ferfect positive linear b} Strong negative linear t) No linear correlation
correlation correlation

{xii) Given x=-3,-5,—7 and y=-3,-5,7 find r, andinterpretthe result

{xiif)  What is meant by time series? Distinguish between secular trend and seasonal variations.
(xivy  Explain briefly the moving average method and ifs merits,

{xv) Given Y x=0Y y=843 xy=210,3 x* = 70.Find the value of intercepts and siope,

(xvil  What are univariate and bivariate frequency distributions? Also describe the contingency table.
(xvii) Giveny (x—¥)=90,8, =8 (x—¥)}(y-p)=120.#=05. Find"n".

(xvii) Given p=1,2,3,3,6, x=0,1,2,3,4 and $=06+12X showthat > &* =2

(xix)  Fora moderately skewed distribution the mean price is Rs.20/~, the median price is Rs 17/- and the
coefficient of variation is 20%. Find coefficient of skewness.

1ON ~ C (Marks 26

Note: Attempt any TWO questions. All guestions carry equal marks. (2x13=28)
Q.3 Calculate the mean deviation from the maan and median of the marks of 80 students: (13)
Marks 20-30 30-40 40-50 50-60 50-7¢ | 70-80 80-90 | 90-100
No.of | P
sthdais | 3 8 9 15 20 13 & 4
Q.4  Obtain the trend values for the following data by using the methed of semi-averages, Construct graph
ilustrating the results obtained. (13)
Year 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017 |2018 |2019 | 2020

Gonsumption of
cotton (thousands | 706 854 886 815 B27 761 805 797 746 727

' of bales)
Q.5 a Convert the following prices into price relatives using chain base method taking 2014 as a base year:

(06)

Year 2014 2015 2016 207 | 2018 2018 2020

Prices 38 45 56 64 70 80 8c
h. Calculate the coefficient of correlation between the values of X and ¥ from the following table.

Use 167 as a working mean for X and 210 as thatforY . (07)

X 176 187 196 167 157 177 159 159

Y 223 235 254 210 205 234 221 206
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